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1. (a) 589  588  583  558  433  -192

–1

×5 ×5 ×5 ×5

–1

–5 –25 (–125) (–625)

2. (a) L + R – 1 = Total

7 + 11 – 1 = Total boys

 Total number of boys is 17.

3. (a) We can make none of the given conclusions from the given statements.

 Neither 1 nor 2 follows.

4. (d) Trick: Opposite  place  value of each letter.

K  I  N  G

161813 20

and 

19

H O P

1211

Similarly,

S T A

8 7 26

5. (c) I. F < C (True)

II. D < A (False)

6. (a) N
–

P

Q

T R

 +

–

+

N is the  mother's mother of R.

7. (d) Argument 1 is not a strong statement. A power cut is not a sensible or reasonable action.

Argument 2 is a strong argument. As there are institutions such as Hospitals that require 24×7 electricity,
in case of power cut they will be affected and may put lives in danger.

 Only argument 2 is strong.

8. (d) ;

;

9. (d)

10. (c)

  35 

30
40

30 

Ranjita  is from (35 + 40) = 75 m from the starting point.
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11. (d) C

A

D

F

E

B

12. (c) From the both statements, the difference between Rajesh's sister and Rajesh is 10 years.

Hence,  Rajesh is born in 1964.

Both statements 1 and 2 are sufficient to answer the question.

13. (a) 'Expand' is the synonym of 'Stretch', similarly, 'Contr-act' is the synonym of 'Shrink'.

14. (a) (10,450,5)

 10 × 5 = 50 × 9 = 450

Similarly,

(7,189,3)

= 7 × 3 = 21 × 9

= 189

15. (a) A C C O U N T

P A T T E R N

E B G N Y M X

T Z X S I  Q R

+4

+4

+4

+4

+4

+4

+4

+4

–1

–1

–1

–1

–1

–1

Similarly

16. (b)  F O  W  C

K  W  L   I

+5

+5

+5

+5

+8

+8

+8

+8

–11

–11

–11

–11

+6

+6

+6

+6

17. (a) The correct combination of numbers is 6,4,2,1,5,3 i.e. AUTHOR.

18. (c) 8 × 6 + 12 ÷ 2 – 4 = 14

Interchanging the numbers 2  and     6  in the above equa-tion, we get -

8 × 2 + 12 ÷ 6 – 4 = 14

8 × 2 + 2 – 4 = 14

16 + 2 – 4 = 14

14 = 14(Satisfied)

19. (b)

20. (d)
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21. (a) Subtract  the given time from 23:60 hrs for the mirror image of 11:40

 23 : 60 – 11 : 40

 12 : 20

22. (c)
Animal  cowRat

Only conclusion II follows.

23. (b) Trick: (Addition of left and right side number) ×(Difference between lower and upper number = Middle
number

Fig.1: (3 + 4) × (8 – 6) = 7 × 2 = 14

Fig.2: (6 + 3) × (9 – 2) = 9 × 7 = 63

Similarly,

Fig.3: (4 + x) × 3 = 36  x = 8

24. (b)
×2–1

Square

11:21:121 ;
×2+1

Square

×2–1

Square

2 : 3 : 4 ;
×2–1

Square

9 : 17 : 81

25. (b) 11 * 7 * 345*5 * 31 = 115

Substituting the * signs with ×,+, ÷, –  in the above equation, we get-

 11 × 7 + 345  5 – 31

 11 × 7 + 69 – 31

 77 + 69 – 31

 115

B-GENERAL AWARENESS

26. (b)

27. (a)He was the Sultan of Delhi from 1266 to 1287. Balban introduced Persian court customs and formalities
into the Delhi Sultanate. His reign marked the establishment of a highly centralised and autocratic form

of rule./og 1266 ls 1287 rd fnYyh dk lqYrku FkkA cycu us fnYyh lYrur esa iQkjlh njckjh jhfr&fjoktksa vkSj vkSipkfjdrkvksa dks
ykxw fd;kA mlds 'kkludky us ,d vR;f/d dsaæhÑr vkSj fujadq'k 'kklu ds :i dh LFkkiuk dks fpfÉr fd;kA

28. (c) Vasco da Gama, who discovered the sea route from Europe to India, belonged to Portugal. He was the first

European to reach India by sea route, which linked Europe and Asia via the Cape of Good Hope./okLdks Mh
xkek] ftUgksaus ;wjksi ls Hkkjr rd leqæh ekxZ dh [kkst dh Fkh] iqrZxky ds FksA og leqæh ekxZ ls Hkkjr igqapus okys igys ;wjksih; Fks] ftUgksaus
dsi vkWiQ xqM gksi ds ekè;e ls ;wjksi vkSj ,f'k;k dks tksM+kA

29. (d) Mir Osman Ali was the Nizam of Hyderabad during 1946-47. Hyderabad began as a vassal of the
Mughal dynasty in 1713 and the ruler was known as the Nizam. Although more than 85 percent of its

population consisted of Hindus, Muslims controlled the police, army and civil services./ehj mLeku vyh
1946&47 ds nkSjku gSnjkckn ds futke FksA gSnjkckn dh 'kq#vkr 1713 esa eqxy jktoa'k ds tkxhjnkj ds :i esa gqbZ Fkh vkSj 'kkld dks futke
ds uke ls tkuk tkrk FkkA gkyk¡fd bldh 85 çfr'kr ls vf/d vkcknh esa fganw 'kkfey Fks] eqlyekuksa us iqfyl] lsuk vkSj ukxfjd lsokvksa
dks fu;af=kr fd;kA



4SSC CGL 2024 | SET - 22KD PUBLICATION Contact us:- 9555108888, 9555208888

30. (b) When the International Date Line is crossed from east to west, the calendar date is moved backward by
one day. Conversely, if crossed from west to east, the date is moved forward by one day. Hence, when

crossed from east to west, the date is moved backward by one day./tc varjkZ"Vªh; frfFk js[kk dks iwoZ ls if'pe dh vksj
ikj fd;k tkrk gS] rks dSysaMj frfFk ,d fnu ihNs gks tkrh gSA blds foijhr] ;fn if'pe ls iwoZ dh vksj ikj fd;k tkrk gS] rks frfFk ,d
fnu vkxs c<+ tkrh gSA vr%] iwoZ ls if'pe dh vksj ikj djus ij frfFk ,d fnu ihNs gks tkrh gSA

31. (b) The Son River originates from the Vindhya Range and flows through central India. The Yamuna originates
from the Yamunotri glacier in the Himalayas. Both the Ghaghara and the Gandak are tributaries of the

Ganges, which originate from the Himalayas./lksu unh foaè; ioZrekyk ls fudyrh gS vkSj eè; Hkkjr ls gksdj cgrh gSA
;equk fgeky; esa ;equks=kh Xysf'k;j ls fudyrh gSA ?kk?kjk vkSj xaMd nksuksa gh xaxk dh lgk;d ufn;k¡ gSa] tks fgeky; ls fudyrh gSaA

32. (d) The Public Distribution System (PDS) is an Indian food security system established under the Ministry of
Consumer Affairs, Food and Public Distribution. The PDS evolved as a system of managing shortages through
the distribution of grains at affordable prices.

The MSP is the rate at which the government purchases crops from farmers, and is based on a

calculation of at least one and a half times the cost of production incurred by the farmers./lkoZtfud
forj.k ç.kkyh (PDS) miHkksDrk ekeys] [kk| vkSj lkoZtfud forj.k ea=kky; ds rgr LFkkfir ,d Hkkjrh; •k|  lqj{kk ç.kkyh gSA PDS

lLrh dherksa ij •k|kUu ds forj.k ds ekè;e ls deh ds çca/u dh ,d ç.kkyh ds :i esa fodflr gqvkA

MSP og nj gS ftl ij ljdkj fdlkuksa ls iQly [kjhnrh gS] vkSj ;g fdlkuksa }kjk fd, x, mRiknu dh ykxr ds de ls de Ms<+ xquk
dh x.kuk ij vk/kfjr gksrh gSA

33. (d) The term sovereignty means that India is free from any external control. The Preamble of the Indian

Constitution declares India to be a sovereign, socialist, secular and democratic republic./laçHkqrk 'kCn dk vFkZ gS
fd Hkkjr fdlh Hkh ckgjh fu;a=k.k ls eqDr gSA Hkkjrh; lafo/ku dh çLrkouk Hkkjr dks ,d çHkqRolEiUu] lektoknh] /eZfujis{k vkSj
yksdrkaf=kd x.kjkT; ?kksf"kr djrh gSA

34. (c) State emergency, also known as President's rule, is imposed under Article 356 of the Indian Constitution. It can be
declared when the President, on receipt of a report from the Governor of a State or otherwise, is satisfied that a
situation has arisen in which the government of the State cannot be carried on in accordance with the provisions

of the Constitution./jkT; vkikrdky] ftls jk"Vªifr 'kklu ds :i esa Hkh tkuk tkrk gS] Hkkjrh; lafo/ku ds vuqPNsn 356 ds varxZr
ykxw fd;k tkrk gSA bldh ?kks"k.kk rc dh tk ldrh gS tc jk"Vªifr] fdlh jkT; ds jkT;iky ls fjiksVZ çkIr djus ij ;k vU;Fkk] bl ckr
ls larq"V gks fd ,slh fLFkfr mRiUu gks xbZ gS ftlesa jkT; dk 'kklu lafo/ku ds çko/kuksa ds vuqlkj ugha pyk;k tk ldrk gSA

35. (d) Bangladesh Liberation War During the Indo-Pak War of 1971, Bengali nationalists formed the Mukti

Bahini (Bangladeshi National Liberation Army) and established the Government of Bangladesh on 17

April 1971./Hkkjr&ikd ;q¼ 1971 ds nkSjku ckaXykns'k eqfDr ;q¼] caxkyh jk"Vªokfn;ksa_ eqfDr ckfguh (ckaXykns'kh us'kuy fycjs'ku vkehZ)
dk xBu fd;k vkSj 17 vçSy 1971 dks ckaXykns'k ljdkj dh LFkkiuk dhA

36. (c) The term unemployment refers to a situation where a person actively seeks employment but is unable to find work.

Structural unemployment comes about through technological changes in the structure of the economy in which the

labour market operates./csjkstxkjh 'kCn ml fLFkfr dks lanfHkZr djrk gS] tgk¡ ,d O;fDr lfØ; :i ls jkstxkj dh ryk'k djrk gS
ysfdu dk;Z ikus esa vleFkZ gksrk gSA

lajpukRed csjkstxkjh ml vFkZO;oLFkk dh lajpuk esa rduhdh ifjorZu ds ekè;e ls vkrh gS] ftlesa Je cktkj lapkfyr gksrk gSA

37. (b) According to Newton’s first law, if a body is at rest or moving along a straight line at a constant speed, it will
continue to move along a straight line at a constant speed or at rest unless acted upon by an external force.

• This concept is known as the law of inertia./U;wVu ds igys fu;e ds vuqlkj] ;fn ,d fiaM fojkekoLFkk ;k ,d lh/h js•k
esa ,d fLFkj xfr ls vkxs c<+ jgk gS] ;g fojkekoLFkk ;k fLFkj xfr ls ,d lh/h js•k esa pyrk jgsxk] tc rd fd dksbZ cká cy }kjk bl
ij dke u fd;k tk;A

• bl ifjdYiuk dks tM+rk ds fu;e ds :i esa tkuk tkrk gSA
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38. (a)Extensive Properties: These are the properties of a system which are independent of the given mass. For
example: pressure, temperature, density, structure

Extensive Properties: These are the properties which depend on the mass of a given system. For example:

internal energy, enthalpy, mass, Amount, entropy, weight/vfoLrkjh xq.k/eZ% ;s fudk; ds os xq.k gSa tks fn, x, æO;eku
ls Lora=k gksrs gSaA mnkgj.k ds fy,% ncko] rkieku] ?kuRo] ljapuk

foLrkjh xq.k/eZ% os xq.k tks fn, x, fudk; ds æO;eku ij fuHkZj djrs gSaA mnkgj.k ds fy,% vkarfjd ÅtkZ] rkih; /kfjrk] æO;eku] ek=kk]
,UVªkWih] otu

39. (a)

40. (d) Haemoglobin is the primary purpose of iron in the body. Haemoglobin is a protein in red blood cells that

carries oxygen from the lungs to the rest of the body./gheksXyksfcu 'kjhj esa vk;ju dk çkFkfed mís'; gSA gheksXyksfcu
yky jDr dksf'kdkvksa esa ,d çksVhu gS tks iQsiQM+ksa ls 'kjhj ds ckdh fgLlksa esa vkWDlhtu ys tkrk gSA

41. (b) The human brain is the central organ of the human nervous system. The brain can be divided into three
basic units: the fore-brain, the mid-brain and the hind-brain. The brain stem network regulates blood

pressure./ekuo efLr"d ekuo raf=kdk ra=k dk dsaæh; vax gSA efLr"d dks rhu ewy bdkb;ksa esa foHkkftr fd;k tk ldrk gS% vxzefLr"d]
eè;efLr"d vkSj i'p efLr"dA efLrd Lrai usVodZ jDrnkc dks fu;af=kr djrk gSA

42. (d)

43. (d) The song ‘Vande Mataram’ was first sung in 1896 at the Kolkata session of the Indian National Congress.

The president of the Kolkata session was Rahimtulla M. Sayari./^oans ekrjEk~* xhr çFke ckj 1896 esa dksydkrk esa
Hkkjrh; jk"Vªh; dkaxzsl ds vf/os'ku esa xk;k x;k FkkA dksydkrk vf/os'ku ds vè;{k jgherqYyk ,e- lk;jh FksA

44. (c)

45. (b)

46. (d) India conducted the 5th edition of Vietnam-India Bilateral Army Exercise (VINBAX 2024) with Vietnam from

November 4 to 23, 2024./Hkkjr us 4 ls 23 uoacj] 2024 rd fo;ruke ds lkFk fo;ruke&Hkkjr f}i{kh; lsuk vH;kl (VINBAX

2024) dk 5ok¡ laLdj.k vk;ksftr fd;kA

47. (b)

48. (d)

49. (c)

50. (a)

C - QUANTITATIVE APTITUDE

51. (d)  
(1 sin A)

1 sin A






(1 sin A) (1 sin A)

1 sin A 1 sin A

 


 



2

2

(1 sin A)

cos A




1 sin A

cos A



 secA – tanA
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52. (d)16 of of(3+3)}] (2  4 of 8)

 16 ofof}] (2  32)

 16 ofof
1

2


2

32

 
  
 

 16 ofof
2

32

 
  
 

 16 of
2

32

 
  
 

 16 of
3

8


2

32

 
  
 

 1
3 32

8 2

   
   

      

 6

53. (a)3.6,1.8 and 0.144


 
 

LCM of 3600,1800,144

H.C.F of 1000,1000,1000


3600

1000
3.6

54. (d) BO and CO is the angle bisector of CBD and BCE respectively.

BOC = 90º – 
BAC

2


54o

55. (b)                    A : B

Income 2x : 5x

Exp.  3y : 5y

ATQ, 2x = 5y × 
70

100

x

y = 
7

4

Now, savings of A = Income – Expenditure = 14 – 12 = 2

Savings of B = Income – Expenditure = = 35 – 20 = 15

 Required ratio = 2 : 15
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56. (d) Amount = 8820

C.I. = 820

Principle = 8820 – 820

= 8000

ATQ, C.I = P 

t
r

1
100

 
  
 

8820 = 8000

t
r

1
100

 
  
 

 r = 5%

57. (a)Speed = 
Distance

time

D = 80 × 
45

60

D = 60 km

New speed = 180

New distance = 96 km

T = 
D 96 8

60
S 180 15

  

= 32 min.

58. (d) By Pythagoras theorem,

(OQ)2 = (OP)2 + (PQ)2

(OQ)2 = 32 + 42

(OQ)2 = 25

OQ = 5

59. (a)Height = Distance = 14 cm

Volume of cylinder = r2h

= 
22

7
× 7 × 7 × 14 = 2156 cm3

60. (b) Class VI has the least number of students considering both boys and girls.

61. (b) Let, the principal(P) is 1 unit.

 Interest(I) = 2 – 1 = 1 unit

We know, 
P R T

100

 
= I

R 12

100


 = 1

R = 
1

8
3

%
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62. (c)

C 30
o

A

B

1000 m

tan 30o = 
AB

BC

BC =1000 3

BC = 1.732 × 1000

BC = 1732 m

63. (c)

A
15

C

B

45 m

3

tan CAB = 
45

15 3

CAB = 60º

64. (b) D

L

C

BA

11

X

6

4

From the properties of the circle,

LC × LD = LB × LA

6 × (6 +11) = 4 × (4 + x)

x = AB = 21.5

65. (c)
2sin ²30º tan60º –3cos ²60ºsec ²30º

4cot ²45º – sec ²60º+sin ²60º+cos ²90º

=
 

22 2

2

1 1 2
2 3 – 3

2 2 3

2
4 – 2 ² + + 0

3

       
          
           

 
 
 

=  2 3 2

3



66. (b) Initial : Final

 10      :   9

 10      :   9

 10      :   9

-------------------

1000   :   729

ATQ, 729  729000

1000  1000000

The original strength of the army was 1000000.
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67. (d) Time taken to catch the thief =
360 18

1.2 5




1080 sec

Required distance

 = 
5

9.2
18

 ×1080 2760 m

68. (d) P2 + 2

1

P
 = 14

 P2 + 2

1

P
 + 2 = 14 + 2

 P + 
1

P
= 4

Cubing both sides -

P3 + 3

1

P
= 43 – (3 × 4) = 52

69. (d) Ratio of principal of Raman and Rahul = 3 : 5

Ratio of time of Raman and Rahul = 12 : 10

Ratio of profit of Raman and Rahul = 36 : 50 = 18 : 25

Required share = 10000 ×
18

43
4186.04

70. (d) Let, a = equal side

b = unequal side

Perimeter of isosceles = 3.6 m

Area of isoscles 

=

2
2b b

a
2 4

 
 

  
 
 

ATQ, b = a – 0.3

and 3.6 = 2a+b

After solving above two equations, we get -

a = 1.3, b = 1

Area of = 
1

2
× 1 ×1.2

= 0.6 m2
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71. (a)    M
   43

   F
  24

38

14 5

    :
    :

    :

ATQ, (14 + 5)  133

1  7

Total runs of male's player = 14×7 = 98×43 = 4214

Total runs of female's player = 5 × 7 = 35 × 24 × 840

Required ratio = 4214 : 840

= 301 : 60

72. (b) Slant height (l) of the cone = 2 2r h

C.S.A of the cone = rl.

ATQ,rl = 2r2

r =
6 3

2
(Where l = 2r)

r = 3 3

Now, (l)² = (r)² + (h)²

   
2 2 26 3 3 3 h 

h2 = 81  h = 9

73. (b) A = 10
B = 15
C = 20

6
4
3

60

ATQ, 13  2600

1  200

C's wages = 200 × 3 = 600

74. (a)  P

90
O

60
O

30 60O

UT

S

Q R



According to the question,

P = S = 90o

75. (a)Divisibility rule of 9 : The sum of digits of a number is divisible by 9.

The sum of the digits of each of the options,

83061 = 8 + 3 + 0 + 6 + 1 = 18

29568 = 2 + 9 + 5 + 6 + 8 = 30

78432 = 7 + 8 + 4 + 3 + 2 = 24

47695 = 4 + 7 + 6 + 9 + 5 = 31

The answer is 83061.
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D-ENGLISH COMPREHENSION

76. (d) Hoodwinked (/ks[kk nsuk) means to deceive or trick someone, usually by pretending or misleading.

Similarly, Deceived (/ks[kk nsuk) refers to being tricked or misled.

Coerced (cyiwoZd djkuk) means to force someone to do something by using threats or pressure

Threatened (/edh nsuk) means to state an intention to cause harm or trouble

Misguided (xqejkg djuk) means being led in the wrong direction or misled in judgement

77. (d) Collusion ("kM+;UË) refers to a secret agreement or cooperation, especially for a dishonest or fraudulent

purpose

Collision (Vdjko) means a violent impact or crash

Collocation ('kCnksa dk esy) refers to the habitual placement of a word with another

Colloquy (ckrphr) means a formal or serious discussion

78. (1) crews (deZpkjh ny) refers to the group of people working on the submarine. It fits as the subject

performing the action of being unaware of the ship’s location.

Cruise (lSj ij tkuk) refers to a journey on a ship for pleasure or vacation

Cruse (?kM+k) refers to a small container for liquids.

79. (d) What is the name of the next station?

This sentence uses the definite article “the” appropriately before “next station,” which refers to a

specific station and the word “name” should be preceded by “the” because we are referring to a

specific name

80. (b) early in the

'So' takes Positive Degree (early).

The preposition “in” is used to refer to general periods of the day, such as morning, afternoon, and

evening and article “the” is used because “morning” refers to a specific part of the day.

81. (d) Active Voice Structure: Subject + Verb + Object

Pay the electricity bill for the month of April.

Passive Voice Structure: Let + Object + Be + Past Participle (V3)

Let the electricity bill for the month of April be paid.

“let” is used to express that the action should take place, with the focus on the bill being paid.

82. (c) Impulsive (fcuk lksps&le>s) means acting without thinking or planning, driven by sudden desires or emotions.

Its opposite is thoughtful (lksp&le>dj), which refers to acting with careful consideration or reflection.

Angry (xqLls esa) means feeling strong annoyance or displeasure

Unknown (vutku) means not known or unfamiliar

Worthless (csdkj) means lacking value or importance

83. (d) The correct order is DACB.

d introduces the topic (importance of peace of mind).

a explains qualities associated with peace of mind.

c connects peace of mind to these attributes.

b concludes with its necessity.
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84. (a) The correct spelling is ‘Colloquial’ which refers to the informal language or conversational style
used in everyday speech.

Recommend (fliQkfj'k djuk) is spelled correctly.

Infection (laØe.k) is spelled correctly.

Occasion (volj) is spelled correctly.

85. (c) Perquisite (vfrfjDr ykHk) refers to an additional profit, benefit, or allowance given to someone,
especially above their regular salary or income.

Perplexity (my>u) means a state of confusion or uncertainty

Persecute (rax djuk) means to treat someone cruelly or unfairly

Persevere (lkgliwoZd djuk) means to continue trying despite difficulties

86. (d) The correctly spelled word is Necessary (vko';d).

Cemetery (Le'kku ?kkV) is spelled correctly.

Accommodate (Bgjkuk) is spelled correctly.

Intruder (?kqliSfB;k) is spelled correctly.

87. (d) Fire in their bellies (dM+h esgur vkSj n`<+ ladYi) refers to having a strong determination, passion, or drive to
succeed, which fits the context of candidates with strong determination.

Flash in the pan (vpkud vk, ifj.kke) refers to something that shows promise initially but fails to
deliver in the long run.

Raise the roof ('kksj epkuk) means to make a lot of noise or create a commotion

Food for thought (lkspus ds fy, dqN) means something that makes you think deeply

88. (d) Active Voice Structure: Subject + Verb + Object

They think that the Governor will resign.

Passive Voice Structure: Object + Auxiliary verb (is/are) + Past Participle (V3) + by + Subject

It is thought that the Governor will resign.”

89. (a) The sentence should use “are their reasons” because the subject “reasons” is plural, and we need
the plural form of the verb “are” to agree with it.

Their (mudk)
90. (b) Intransigent (vfMx) means unwilling to change one’s views or opinions, showing an uncompromising

attitude. The antonym of intransigent would be subservient, which means willing to obey or be controlled
by others, or easily yielding to others’ opinions.

Obstinate (<+hV) means stubborn or refusing to change one’s opinion

Tenacious (vfMx) means holding on firmly or being persistent

Pertinacious (ftíh) means holding firmly to an opinion

91. (d) The pronoun “that” refers to “one,” which is singular. Therefore, the sentence should use the singular
verb form “has.”

92. (b) August (izfl¼) refers to something or someone respected, dignified, or distinguished. Similarly,
“eminent” also means highly respected or distinguished.

Imminent (utnhd) means something that is about to happen.

Permanent (LFkk;h) means something that lasts forever.

Illicit (voS/) means something illegal
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93. (a) Half a loaf is better than none (dqN ugha ls dqN vPNk gS) means that it is better to have something,
even if it is less than what you want, than to have nothing at all.

A storm in a teacup (,d NksVh lh leL;k dks cgqr cM+k cuk nsuk) means making a small issue seem much
bigger than it really is

94. (a) It should be “Children were prohibited from attending” instead of “to attend”. The verb “prohibited”
is followed by “from” when indicating the action that is not allowed.

95. (b) No improvement

The preposition “of” correctly follows “in danger” to specify what the risk or harm is related to

96. (d)

97. (b)

98. (d)

99. (d)

100. (a)
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